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NEW QUESTION 1 Which two items are required for LDAP authenticated bind operations? (Choose two.)
A.&#160;&#160;& #160; Root DN  B.&#160;&#160;& #160; Password C.&#160;&#160;& #160; Username
D.&#160;& #160;&#160; SSO E.&#160;&#160;&#160; UID Answer: AB NEW QUESTION 2 Which of the following two
options can you configure to avoid iBGP full mesh? (Choosetwo.) A.&#160;&#160;& #160; Route reflectors
B.&#160;& #160;& #160; Confederations C.&#160;&#160;&#160; BGP NHT D.&#160;&#160;&#160; Local preference
E.&#160;&#160;&#160; Virtual peering Answer: AB NEW QUESTION 3 Which three authentication types does OSPF support?
(Choose three.) A.&#160;&#160;&#160; Null B.&#160;&#160;&#160; Plaintext C.&#160;&#160;&#160; MD5
D.&#160;&#160;&#160; PAP E.&#160;&#160;&#160; PEAP F.&#160;&#160;&#160; MS-CHAP Answer: ABC NEW
QUESTION 4 Which three steps are required to rekey the routers on alink without dropping OSPFv3 protocol packets or
disturbing the adjacency? (Choose three.) A.&#160;&#160;& #160; For every router on the link, create an additional inbound SA
for the interface that is being rekeyed using anew SPI and the new key. B.&#160;&#160;&#160; For every router on thelink,
replace the original outbound SA with one that uses the new SPI and key values. C.&#160;&#160;& #160; For every router on the
link, remove the original inbound SA. D.&#160;&#160;&#160; For every router on the link, create an additional outbound SA for
the interface that is being rekeyed using anew SPI and the new key. E.&#160;& #160;& #160; For every router on the link, replace
the original inbound SA with one that uses the new SPI and key values. F.&#160;& #160;&#160; For every router on the link,
remove the original outbound SA. Answer: ABC NEW QUESTION 5 Which BGP configuration forces the session to tear down
when the learned routes from the neighbor exceed 10? A.&#160;&#160;& #160; neighbor 10.0.0.1 maximum-prefix 10 80
warning-only B.&#160;&#160;&#160; neighbor 10.0.0.1 maximum-prefix 10 80 C.&#160;&#160;& #160; neighbor 10.0.0.1
maximum-prefix 80 10 warning-only  D.&#160;& #160;& #160; neighbor 10.0.0.1 maximum-prefix 80 10 Answer: B NEW
QUESTION 6 Which command can be used on a Cisco 10S device to prevent it from being used as an amplifier in afraggle
attack? A.&#160;& #160;&#160; no service tcp-small-servers B.&#160;& #160;& #160; no service udp-small-servers
C.&#160;& #160;&#160; no ip directed-broadcast D.&#160;&#160;&#160; no ip redirects Answer: B NEW QUESTION 7
Which option is used for anti-replay prevention in a Cisco |OS I Psec implementation using tunnel protection?
A.&#160;&#160;&#160; Session token B.&#160;&#160;&#160; One-time password  C.&#160;& #160;& #160; Time stamps
D.&#160;&#160;&#160; Sequence number  E.&#160;&#160;&#160; Nonce Answer: D NEW QUESTION 8 Refer to the
exhibit. Based on the show command output, which statement is true?
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[R2¥=ncw ctypte ipsec  =a
incerface: GigabicEcherneto/0
Crypro map tag: cm, local addr 10.105.130.103

protected vEf: (none)
local ident (addr/mask/preot/pert): (1.1.1.1/255.255.255.255/0/0)
ramate ident (addr/mask/preot/pert): (2.2.2.2/255.255.255.255/0/0)
current pesr 10.105.120.102 port 4500
PERMIT, flags={origin is acl,}
fpkes encaps: 4, fpkrs encrypr: 4, #pkrs digesc: 4
$pkrs decaps: 4, #pkrs deczypr: 4, $pkus wverify: 4
#pkts compressed: 0, #pkts decompressed: 0
compressad: 0, #pkts compr. failed: 0

ﬂecnnn-essed L9 tpk:s dec —ess 'a;le: s
4 =FE ] C‘ I'ec "' '? 1 1—_| | f’:— I'/: (4
ca e IO EAT T 11 /N _/L]
local crypto endpt.~40.105.130.103, 'cmotc c'}vto c'dpt 10 105.120. 02
path mti 1500, ip mtu 1500, ip mtu idb Glcabat't’c'-ctofo

current cutbound spi: OxF3191702 (4078507778)
PFS (¥/N): N, DH group: none

inbound esp sas:
spir OxC474345C (3295949916)
transform: esp-256-aes esp-shaSll-hmac ,
in use settings ={Tunnel UDP-Encaps, }
conn id: 2001, £leow_id: Onboard VPN:1l, sibling flags 20000040, cryptc map: cm
sa timing: remaining key lifetime ckf:cc; (43‘"904}3560;
IV : 1& bytes
zeplay detection suppezt: ¥
Status: ACTIVE (ACTIVE)

A.&#160;& #160;&#160; A NAT/PAT deviceistrandating thelocal VPN endpoint. B.&#160;&#160;&#160; A NAT/PAT
deviceistrandating the remote VPN endpoint. C.&#160;&#160;&#160; A NAT/PAT device exists in the path between VPN
endpoints. D.&#160;&#160;&#160; No NAT/PAT device existsin the path between VPN endpoints. Answer: C NEW
QUESTION 9 Interfacetunnel 1 ip address 10.1.1.1 255.255.255.252 ip mtu 1400 Tunnel source 172.16.1.1 Tunnel
destination 172.16.1.2 Tunnel key 1111 Based on the above configuration, if the input packet size is 1300 bytes, what is the size
of the packet |eaves the tunnel after encapsulation? A.&#160;&#160;&#160; 1324 B.&#160;&#160;&#160; 1325
C.&#160;& #160;&#160; 1326 D.&#160;&#160;&#160; 1328 Answer: D NEW QUESTION 10 Y ou run the show ipv6
port-map telnet command and you see that the port 23 (system-defined) message and the port 223 (user-defined) message are
displayed. Which command isin the router configuration? A.&#160;& #160;&#160; ipv6 port-map port telnet 223
B.&#160;& #160;& #160; ipv6 port-map port 23 port 23223 C.&#160;& #160;&#160; ipv6 port-map telnet port 23 233
D.&#160;&#160;& #160; ipv6 port-map telnet port 223 Answer: D NEW QUESTION 11 At the end of the Cisco TrustSec
authentication process, which three pieces of information do both authenticator and supplicant know? (Choose three.)

A.&#160;& #160;& #160; Peer device ID B.&#160;&#160;& #160; Peer Cisco TrustSec capability information

C.&#160;& #160;& #160; SAPkey D.&#160;&#160;&#160; Server deviceID E.&#160;&#160;&#160; Service ID

F.&#160;& #160;&#160; Server peersinformation Answer: ABC NEW QUESTION 12 You are preparing Control Plane
Protection configurations for implementation on the router, which has the EBGP peering address 1.1.1.2. Which ACL statement can
you use to classify the related traffic into the EBGP traffic compartment? A.&#160;&#160;&#160; permit tcp host 1.1.1.1 gt 1024
host 1.1.1.2eqbgp permit tcp host 1.1.1.1 eq bgp host 1.1.1.2 gt 1024  B.&#160;& #160;&#160; permit tcp host 1.1.1.2 gt 1024
host 1.1.1.2eqbgp permit tcp host 1.1.1.2 eq bgp host 1.1.1.2 gt 1024 C.&#160;&#160;& #160; permit tcp host 10.1.1.1 gt 1024
host 10.1.1.2 eq bgp permit tcp host 10.1.1.1 eq bgp host 10.1.1.2 gt D.&#160;&#160;&#160; permit tcp host 1.1.1.1 gt 1024
host 1.1.1.1eqbgp  permit tcp host 1.1.1.1 eq bgp host 1.1.1.1 gt 1024 Answer: A NEW QUESTION 13 Which command
enables fast-switched PBR? A.&#160;&#160;&#160; Router(config-if)# ip route-cache policy B.&#160;& #160;& #160;
Router(config-if)# ip policy route-map map-tag C.&#160;&#160;&#160; Router(config-if)# no ip route-cache policy
D.&#160;&#160;& #160; Router(config-if)# no ip policy route-map map-tag Answer: A NEW QUESTION 14 Which of these
configurations shows how to configure MPP when only SSH, SNMP, and HTTP are allowed to access the router through the Gigabit
Ethernet 0/3 interface and only HTTP is allowed to access the router through the Gigabit Ethernet 0/2 interface?

A.&#160;& #160;&#160; Router(config-cp-host)# management-interface GigabitEthernet 0/3 allow http ssh snmp Router(config-
cp-host)# management-interface GigabitEthernet 0/2 allow http B.&#160;& #160;& #160; Router(config-cp-host)#
management-interface GigabitEthernet 0/3 allow http ssh tftp snmp Router (config-cp-host)# management-interface GigabitEthernet
0/2 dlow http  C.&#160;& #160;&#160; Router(config-cp-host)# management-interface GigabitEthernet 0/3 alow http ssh snmp
Router(config- cp-host)# management-interface GigabitEthernet 0/2 allow http ssh  D.&#160;&#160;& #160;
Router(config-cp-host)# management-interface GigabitEthernet 0/3 http ssh snmp Router(config-cp- host)# management-interface
GigabitEthernet 0/2 http Answer: A NEW QUESTION 15 Which three actions are advisable when implementing desktop
security? (Choose three)) A.&#160;&#160;&#160; Installing and maintaining anti-virus/anti-malware software

B.&#160;& #160;& #160; Educating users on the danger of opening files and attachments from un-trusted sources
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C.&#160;& #160;& #160; Statically defining user password based on information like employee ID number to reduce incidence of
forgotten passwords D.&#160;&#160;&#160; Configuring multiple local network DHCP servers  E.&#160;&#160;& #160;
Staying up to date with operating system patches and updates F.&#160;&#160;&#160; Configuring client firewalls to

automatically disable during business hours as not to impact production traffic and applications Answer: ABE Compare And Choose The
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http://www.passleader .com/350-018.ntml NEW QUESTION 16 Why do you use a disk-image backup to perform forensic
investigations? A.&#160;&#160;& #160; The backup timestamps the files with the date and time during copy operations.

B.&#160;& #160;& #160; The backup creates a bit-level copy of the entire disk. C.&#160;&#160;& #160; The backup includes

areasthat are used for the data store.  D.&#160;&#160;& #160; This is a secure way to perform afile copy. Answer: B NEW

QUESTION 17 Which series of stepsillustrates the correct flow for incident management? A.&#160;& #160;&#160; Identify, log,
categorize, prioritize, initial diagnosis, escalate, investigate and diagnose, resolve and recover, close B.&#160;& #160;& #160;

Categorize, log, identify, prioritize, initial diagnosis, escalate, investigate and diagnose, resolve and recover, close

C.&#160;& #160;& #160; |dentify, log, categorize, prioritize, initial diagnosis, investigate and diagnose, escal ate, resolve and

recover, close D.&#160;&#160;&#160; |dentify, categorize, prioritize, log, initia diagnosis, escalate, investigate and diagnose,

resolve and recover, close Answer: A NEW QUESTION 18 Of which IPS application is Event Action Rule a component?
A.&#160;&#160;&#160; InterfaceApp B.&#160;&#160;&#160; MainApp C.&#160;&#160;&#160; SensorApp
D.&#160;&#160;&#160; NotificationApp E.&#160;&#160;&#160; AuthenticationApp F.&#160;& #160;& #160;
SensorDefinition Answer: C NEW QUESTION 19 Which statement about the DH group istrue? A.&#160;&#160;& #160; It
does not provide data authentication. B.&#160;&#160;&#160; It provides data confidentiality. C.&#160;&#160;&#160; It
establishes a shared key over a secured medium. D.&#160;&#160;& #160; It is negotiated in |Psec phase 2. Answer: A NEW
QUESTION 20 Refer to the exhibit. Which two statements correctly describe the debug output? (Choose two.) :ﬁ 2;;;-1&;; 2233‘;‘2“223":5
NHRF: Encapsulation succee
NHRP: Send Registration Re

src: 180.10.10.2, dst: 180
(F) afn: IPv4(l), type: IE

Shidna .-r..'.".'.-.-1—, —satl: ﬂ({:."il

pk"sz x.:_f} 3,—

Elaas) orts st

src m g1 91 81. l

re pretocol: 180.10.10.2,
{C-1) code: no errocx(0)
prefix: 32, mtu: 17912, hd

addr_len: 0(NSAP), subaddz
NHRF: 120 bytes cut Tunnel

A.&#160;& #160;&#160; The message is observed on the NHS. B.&#160;&#160;&#160; The remote VPN addressis 180.10.10.1

C.&#160;&#160;&#160; The local non-routable addressis 20.10.10.3 D.&#160;&#160;&#160; The remote routable address
91.91.91.1 E.&#160;&#160;&#160; The NHRP hold timeis3 hours. F.&#160;&#160;&#160; The message is observed on the
NHC. Answer: BF NEW QUESTION 21 Which two statements about ASA transparent mode are true? (Choose two.)
A.&#160;& #160;&#160; It requires the inside and outside interface to be in different subnets. B.&#160;&#160;& #160; It cannot
pass multicast traffic. C.&#160;&#160;&#160; It can pass |Pv6 traffic. D.&#160;&#160;&#160; It supports ARP inspection.
E.&#160;&#160;&#160; It drops ARP traffic unlessit is permitted. F.&#160;& #160;&#160; It does not support NAT. Answer:
CD NEW QUESTION 22 Which statement about Cisco ASA operations using software versions 8.3 and later is true?
A.&#160;& #160;&#160; The interface access list is matched first before the global accesslists. B.&#160;&#160;& #160; The
interface and global access lists both can be applied in theinput or output direction. C.&#160;&#160;& #160; When creating an
access list entry using the Cisco ASDM Add Access Rule window, choosing "globa" as the interface applies the access list entry
globally. D.&#160;&#160;&#160; NAT control is enabled by default. E.&#160;&#160;&#160; The static CL1 command is used
to configure static NAT trandation rules. Answer: A NEW QUESTION 23 Refer to the exhibit. Which two options describe
information that can be determined from this output? (Choose two.) frcs- AT Ao o meml info sloml | grep -A 6 ‘Global Params’

Wil e e rscom

end hust‘ﬁx]e Enabled
rc = success {code 0x0)
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A.&#160;&#160;&#160; The uplink interface that is operating as the designated receiver for broadcast traffic
B.&#160;& #160;& #160; The uplink interface that is operating as the designated sender for broadcast traffic
C.&#160;& #160;& #160; The switching mode for which the Fabric Interconnect is configured D.&#160;& #160;& #160; The
uplink interface from which multicast traffic will be sourced E.&#160;&#160;& #160; Whether the last respond code was accepted
or not Answer: AC NEW QUESTION 24 Refer to the exhibit. Which two statements about the exhibit are true? (Choose two.)

A.&#160;& #160;&#160; The domain ID for SAN A is0x64. B.&#160;&#160;&#160; fc1/8 and fc1/9 on the MDS-A are
configured as E Ports.  C.&#160;&#160;& #160; fc1/8 and fc1/9 on the MDS-A are configured as TE Ports.
D.&#160;& #160;&#160; fc1/8 and fc1/9 on the MDS-A are configured as F Ports.  E.&#160;& #160;& #160; FC trunking is
enabled on the Fabric Interconnect. Answer: AD NEW QUESTION 25 Refer to the exhibit. Which two statements about the
output and diagram are true? (Choose two.) fiws-as show intectace £o 1/8

fcl/8 is reunking

annel, SFP is short wave laser w/o OFC (5M)

Admin port
port mode is TF

P, trunk o ute
Port yaan is 100 o .
Speed is 4 Gbps MDS-A
Rare ed
runk n allowed and activel (1,10,50,100,103,1000)
1 {1,100 fc 118 fc 119
: ated) T 0,102, 10047

Swrpasneadersee m

show interface fe 2/1
2 is short wave laser wfo OFC (5H)
:1d3:8d:e0
£ » is NP, Trunk mode is o fe2M fe22

1,100} Fl-A
1300}

A.&#160;& #160;& #160; FI-A is configured in FC switch mode. B.&#160;&#160;&#160; VSAN trunking is enabled on FI-A.
C.&#160;&#160;&#160; The native VSAN should be VSAN 1. D.&#160;&#160;&#160; Cisco UCS will allow al VSANSs by
default when FC trunking isenabled. E.&#160;&#160;&#160; FI-A requires VSAN pruning. F.&#160;&#160;&#160; Interface
fc1/8 on MDS-A should be configured asa TE Port. Answer: BD NEW QUESTION 26 Refer to the exhibit. Y ou have associated
anewly created service profile to a blade. When you examine the configured boot order and actual boot order, they do not match.
Which two statements describe reasons for this mismatch? (Choose two.)
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Boot Order Details =

Configured Baok Order | Actual Boot Order
i = | & Filter | = Export | {55 Print

Hame [ Order | wNICHWHBAISCSIVNIC |  Type | LnID | wwn |69
(@) Co-ROM 1 =]
== i5cst 2
= iscat iscsid Primary

rleadcreamme

There may be a delay of a few minutes before the actual boct order is updated.
Last Uipdate: 2013-10-28708:49:26

#| = = Export (o Print

Configured Boot Order | AEtual ook Order |

=-(@) cofovo
48 (1) Cisco vKWM-Mapped vDVDI1.22
48 Trternal EFI Shell

A.&#160;& #160;&#160; Having a single iSCSI boot target would prevent the profile from associating, and would generate a
configuration error. B.&#160;&#160;&#160; The server must complete a POST cycle before Cisco UCS Manager will update this
information. C.&#160;&#160;& #160; The blade needs to be reacknowledged. D.&#160;&#160;& #160; The server isin the
process of afirmware upgrade. E.&#160;&#160;&#160; There may be a configuration error in the service profile. Answer: BE
NEW QUESTION 27 Refer to the exhibit. You are configuring a UCS C-Series server for SAN boot over FCoE. The server failsto
boot after the HBA option ROM loads. Which option describes the most likely solution for this problem?

VNIC Properties

General - H
Mame:  eth:
w foooa (a500- 9o
Ul Ports [0 7]
LTO $4:78: 14048308

MAC Aasees

A.&#160;& #160;& #160; Decrease the vVNIC MTU. B.&#160;& #160;&#160; Set the vNIC Class of Service to anonzero value.
C.&#160;& #160;& #160; Set the default VLAN to FCOE VLAN. D.&#160;& #160;& #160; Set the vHBA Class of Serviceto 2.
E.&#160;&#160;& #160; Uncheck the PXE Boot option.  F.&#160;&#160;&#160; Disable Persistent LUN Binding. Answer: C
NEW QUESTION 28 Refer to the exhibit. Y ou are connecting a Cisco Nexus 2000 to an existing Cisco UCS Fabric Interconnect
domain for C-Series integration. Which option describes the next Cisco Nexus 2000 that will be discovered? [F3E0-33-16-FI-hinxes)# show “”

Nuil_:v:ai T 5scr1pt1r( o r‘

1 FEXO00L Onl
2 mmuoz Onl

A.&#160;&#160;&#160; FEX0101 B.&#160;&#160;&#160; FEX0003 C.&#160;&#160;&#160; FEX0102
D.&#160;&#160;&#160; FEX1000 E.&#160;&#160;&#160; FEX1001 Answer: B NEW QUESTION 29 Refer to the exhibit.

Assume that the Cisco UCS 6200 Series Fabric Interconnects are equipped with 16 port expansion modules. What is the impact of
the last command in the exhibit?

TCS-B# =cope eth- upllnk
UCS-B[7=thrumLinkc aSepEE Eabrid 2] (()(T]
UCS—-E #eth=uptink /faﬁf:t-#“ f e L e kLD 1

TZ5-B ~eth-uplink-fabric-interface* # commnit-buffer

A.&#160;&#160;&#160; Fabric interconnect B will reboot. B.&#160;& #160;&#160; The expansion module on fabric
interconnect B will reload. C.&#160;&#160;&#160; The command will generate an error.  D.&#160;&#160;& #160; Both fabric
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A and B expansion moduleswill reload. E.&#160;&#160;& #160; The expansion module on fabric interconnect B will reload
according to the maintenance policy that is set by Cisco UCS Manager. Answer: C NEW QUESTION 30 Refer to the exhibit.
What is the most likely reason for the output that is shown in bold in the exhibit? |ucs-a(nxes)# show interface briet

Vet S T[T i E
AU € ) PG
et

tmn up nones

<snip>

A.&#160;& #160;&#160; One or more of the VLANSs that are assigned to the vNIC have been deleted from Cisco UCS Manager.
B.&#160;& #160;& #160; One or more of the VLANS that are assigned to the vNIC are assigned to different disjoint Layer 2 uplinks.
C.&#160;& #160;&#160; There are no Ethernet uplinks that are enabled. D.&#160;&#160;&#160; The host to which the vNIC

belongsis currently powered off. E.&#160;&#160;&#160; The vNIC is currently active and uses the fabric failover peer vNIC.
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